1 Soive 37 + 2 using an area model Use long division and the distributive property 1o record your work.
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2 Sobve TE + 3 uting an srea model Use long division and the distributive property 1o record your work.
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& What division problem did she sove? 20+
b, Show how Caroling’s model can be represented using the distributive property
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Scive the following problems uiing the ares model Support the ares model with long division or the
distributive property.
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10, Seventy-three students sre divided into grougs of § students sach. How many groups of G students are
there? How many students will not be in a group of 57 1
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